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Question Id : 92090625408 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906100401. 1
920906100402. 2
920906100403. 3
920906100404. 4

Question Number : 2 Question Id : 92090625410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906100405. 1
920906100406. 2
920906100407 3
920906100408. 4

Question Number : 3 Question Id : 92090625411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906100409. 1
920906100410. 2
920906100411. 3
920906100412. 4

Question Number : 4 Question Id : 92090625412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906100413. 1
920906100414. 2
920906100415. 3
920906100416. 4

Question Number : 5 Question Id : 92090625413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906100417. 1
920906100418. 2
920906100419. 3
920906100420. 4



Question Id : 92090625408 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090625409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906100401. 1
920906100402. 2
920906100403. 3
920906100404. 4

Question Number : 2 Question Id : 92090625410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906100405. 1
920906100406. 2
920906100407 3
920906100408. 4

Question Number : 3 Question Id : 92090625411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906100409. 1
920906100410. 2
920906100411. 3
920906100412. 4

Question Number : 4 Question Id : 92090625412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906100413. 1
920906100414. 2
920906100415. 3
920906100416. 4

Question Number : 5 Question Id : 92090625413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906100417. 1
920906100418. 2
920906100419. 3
920906100420. 4
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Sub-Section Id : 920906817
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090625414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906100421. 1
920906100422. 2
920906100423. 3
920906100424. 4

Question Number : 6 Question Id : 92090625414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906100421. 1
920906100422. 2
920906100423. 3
920906100424. 4

Question Number : 7 Question Id : 92090625415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906100425. 1
920906100426. 2
920906100427. 3
920906100428. 4

Question Number : 7 Question Id : 92090625415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906100425. 1
920906100426. 2
920906100427. 3
920906100428. 4

Question Number : 8 Question Id : 92090625416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906100429. 1
920906100430. 2
920906100431. 3
920906100432. 4

Question Number : 8 Question Id : 92090625416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906100429. 1
920906100430. 2
920906100431. 3
920906100432. 4

Question Number : 9 Question Id : 92090625417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option which is opposite in meaning to the following word:

barbaric

(1) primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906100433. 1
920906100434. 2
920906100435. 3
920906100436. 4

Question Number : 9 Question Id : 92090625417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906100433. 1
920906100434. 2
920906100435. 3
920906100436. 4

Question Number : 10 Question Id : 92090625418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906100437. 1
920906100438. 2
920906100439. 3



920906100440. 4

Question Number : 10 Question Id : 92090625418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Matural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906100437. 1
920906100438. 2
920906100439. 3
920906100440. 4

Question Number : 11 Question Id : 92090625419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906100441. 1
920906100442. 2
920906100443. 3
920906100444. 4

Question Number : 11 Question Id : 92090625419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906100441. 1



920906100442. 2
920906100443. 3
920906100444. 4

Question Number : 12 Question Id : 92090625420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906100445. 1
920906100446. 2
920906100447. 3
920906100448. 4

Question Number : 12 Question Id : 92090625420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven 4) five
Options :

920906100445. 1
920906100446. 2
920906100447. 3
920906100448. 4

Question Number : 13 Question Id : 92090625421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906100449. 1
920906100450. 2
920906100451. 3
920906100452. 4

Question Number : 13 Question Id : 92090625421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906100449. 1
920906100450. 2
920906100451. 3
920906100452. 4

Question Number : 14 Question Id : 92090625422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906100453. 1
920906100454. 2
920906100455. 3
920906100456. 4

Question Number : 14 Question Id : 92090625422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906100453. 1
920906100454. 2
920906100455. 3
920906100456. 4

Question Number : 15 Question Id : 92090625423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

§))] Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906100457. 1
920906100458. 2
920906100459. 3
920906100460. 4



Question Number : 15 Question Id : 92090625423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906100457. 1
920906100458. 2
920906100459. 3
920906100460. 4

Question Number : 16 Question Id : 92090625424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

() BCGCAED (2) B.CEAD
3) CB.EAD 4) CAEBD
Options :

920906100461. 1
920906100462. 2
920906100463. 3
920906100464. 4



Question Number : 16 Question Id : 92090625424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E;, 385

Choose the correct answer from the options given below

(y BGCAED (2) B.CEAD
® GBEAD (4 CAEBD
Options :

920906100461. 1
920906100462. 2
920906100463. 3
920906100464. 4

Question Number : 17 Question Id : 92090625425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

()] Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906100465. 1
920906100466. 2
920906100467. 3
920906100468. 4



Question Number : 17 Question Id : 92090625425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906100465. 1
920906100466. 2
920906100467. 3
920906100468. 4

Question Number : 18 Question Id : 92090625426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906100469. 1
920906100470. 2
920906100471. 3
920906100472. 4

Question Number : 18 Question Id : 92090625426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906100469. 1
920906100470. 2
920906100471. 3
920906100472. 4

Question Number : 19 Question Id : 92090625427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(g & (2) 22
(3) 23 4) 24
Options :

920906100473. 1
920906100474. 2
920906100475. 3
920906100476. 4

Question Number : 19 Question Id : 92090625427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2 22
(3) 23 4) 24
Options :

920906100473. 1



920906100474. 2
920906100475. 3
920906100476. 4

Question Number : 20 Question Id : 92090625428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGVY' then in the same code

Statement | - 'NORTH' will be written as ‘"MP5SVG' and

Statement I © "WATER' will be written as 'VCS5GS'

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

Options :

920906100477. 1
920906100478. 2
920906100479. 3
920906100480. 4

Question Number : 20 Question Id : 92090625428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906100477. 1
920906100478. 2
920906100479. 3
920906100480. 4

Question Number : 21 Question Id : 92090625429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906100481. 1
920906100482. 2
920906100483. 3
920906100484. 4

Question Number : 21 Question Id : 92090625429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906100481. 1
920906100482. 2
920906100483. 3
920906100484. 4

Question Number : 22 Question Id : 92090625430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B

is:

(1)  5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906100485. 1
920906100486. 2
920906100487. 3
920906100488. 4

Question Number : 22 Question Id : 92090625430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906100485. 1



920906100486. 2
920906100487. 3
920906100488. 4

Question Number : 23 Question Id : 92090625431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906100489. 1
920906100490. 2
920906100491. 3
920906100492. 4

Question Number : 23 Question Id : 92090625431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1 15% (2) 40%
(3) 71.5% 4) 20%
Options :

920906100489. 1
920906100490. 2
920906100491. 3
920906100492. 4

Question Number : 24 Question Id : 92090625432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc s

(1) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906100493. 1
920906100494. 2
920906100495. 3
920906100496. 4

Question Number : 24 Question Id : 92090625432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc is

(Mm 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906100493. 1
920906100494. 2
920906100495. 3
920906100496. 4

Question Number : 25 Question Id : 92090625433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906100497. 1
920906100498. 2
920906100499. 3
920906100500. 4

Question Number : 25 Question Id : 92090625433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906100497. 1
920906100498. 2
920906100499. 3
920906100500. 4



Part B: Nano Science Nano Technology

Section Id : 920906504
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906818
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090625434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9
C {I}CﬁHﬁh-'lgBr
HEC?"'J ™SH ————— Products
(1) Hy0

Products obtained in the above reaction are
(1 diastereomers + Mg(OH)Br
(3
(4

)

(2) racemic mixture + Mg(OH)Br
) meso compound + Mg(OH)Br
)

One Pure enantiomer + Mg(OH)Br

Options :

920906100501. 1
920906100502. 2
920906100503. 3
920906100504. 4

Question Number : 26 Question Id : 92090625434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O

I
ot (1) CgHsMgBr
2 (I1) H;0'

Sua sifirsal § U g aTd SAG 3 -

) SHRSINGR (swfddd! Afaw grEga) + mg(OH)Br
) YfufEe Yo + Mg(OH)Br

) TR (@) HiffTd + Mg(OH)Br

) U URYE ufdfdawy @ARAMR) + Mg(OH)Br

Options :

920906100501. 1
920906100502. 2
920906100503. 3
920906100504. 4

(1
(2
(3
(4

Question Number : 27 Question Id : 92090625435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound with highest Ka from the following is :

OH OH
(1) (2)
CH,CH, NO,
OH
OH
(3) (4)
O CHj

Options :

920906100505. 1
920906100506. 2
920906100507 3
920906100508. 4

Question Number : 27 Question Id : 92090625435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFaferfEd # 4 sidedad Ka aren 9 2 -

OH OH
(1) (2)
CH,CH, NO,
OH
OH
(3) (4)
O CH,

Options :

920906100505. 1
920906100506. 2
920906100507. 3
920906100508. 4

Question Number : 28 Question Id : 92090625436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Compound from the following with highest boiling point is :

H H
3) Q (4)
OH 0

Options :

920906100509. 1
920906100510. 2
920906100511. 3
920906100512. 4

Question Number : 28 Question Id : 92090625436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafed # ¥ S=ad &A1 ara 9IS ©

¥ H
(3) ; (4)
OH 0O

Options :

920906100509. 1
920906100510. 2
920906100511. 3
920906100512. 4

Question Number : 29 Question Id : 92090625437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given compound the number of sp’, sp® and sp hybridized carbon atoms
respectively are :

0
Il
H,C=C=CH-CH,- C-CH=CH,

(1) 0.5.2 (2) 52,0
(3) 151 4 1,60
Options :

920906100513. 1
920906100514. 2
920906100515. 3
920906100516. 4

Question Number : 29 Question Id : 92090625437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau o 9 & B sp?, sp? Gﬁ?sp R EARGEAGE Wﬁﬂﬁﬂ@iﬁfﬁ%’

0
Il
H,C=C=CH-CH,-C-CH=CH,

N 852 (2} 5.2.0
(3) 1.5 4) 1,60
Options :

920906100513. 1
920906100514. 2
920906100515. 3
920906100516. 4

Question Number : 30 Question Id : 92090625438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Total number of chiral carbon atoms in the following compound is :

)

/\ﬁo

(1 4 (2) 5
3 3 4) 6

Options :

920906100517. 1
920906100518. 2
920906100519. 3
920906100520. 4

Question Number : 30 Question Id : 92090625438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad diffie & S15ea Hra4 A & Ho B @ -

O

il i

(1) 4 (2} 5
@) 3 (4) 6

Options :

920906100517. 1
920906100518. 2
920906100519. 3
920906100520. 4

Question Number : 31 Question Id : 92090625439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below is the graph of pressure p vs volume V of a gas at different temperature Ty,
Tz and Ta. The correct order of these temperature is

a
a
o X
o T3
Volume (V) (dm®)
(1) Ti1< T2 <« T3 () Ti=Ta=Ta
(3) TizTa>Ts 4 Ti<T:=T;

Options :

920906100521. 1
920906100522. 2
920906100523. 3
920906100524. 4

Question Number : 31 Question Id : 92090625439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

F U 9 F1 36 (p) T SIS (V) B IHF d9q= 1y, T, IR T, W W% &0 11 81 34
ATIHHT ST TG HH g

ad (P) IR

Ty
T,
T'J.
HIdA (V) (dm?)
{1] T] = TE < T3 [2] T-| —] Tg = T3
(E)) Ti>T:>Ta @y T« =T

Options :

920906100521. 1
920906100522. 2
920906100523. 3
920906100524. 4

Question Number : 32 Question Id : 92090625440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution of 20 g of ethylene glycol (C:HgO3) in 80 g water at 25°C. The mole fraction of
ethylene glycol is: (molar mass of C:12,0:16,H:1gmol™)

(1) 0.68 (2) 0.068
(3) 0.932 (4) 0.0932
Options :

920906100525. 1
920906100526. 2
920906100527. 3
920906100528. 4

Question Number : 32 Question Id : 92090625440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



20 g U TIS®Id (C2HeOz) BT 25°C W 80 g o H faerdd &1 g | Uil Targdia &l
Hie ThaR/ATH U SR ¢ : (AH A SHAF S C:12,0:16,H: 1g mol™)

(1) 0.68 (2) 0.068
(3) 0.932 (4) 0.0932
Options :

920906100525. 1
920906100526. 2
920906100527. 3
920906100528. 4

Question Number : 33 Question Id : 92090625441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

180 g of glucose (molar mass = 180 g mol™) is dissolved in 1 kg of water. The boiling
point of this solution is :

(Given Ky, for water = 0.52 K kg mol™)

(1) 3703 K (2) 373.67K
(3) 276.3 K (4) 380.0K
Options :

920906100529. 1
920906100530. 2
920906100531. 3
920906100532. 4

Question Number : 33 Question Id : 92090625441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

180 g T[PIH (UTH3MU] GoTH = 180 g mol™') DI 1 kg &d H Hidl T 39 fdag &
®YFIE I - (A1S T & AU Ko= 0.52 K kg mol~' §1)

(1) 3703 K (2) 373.67K
(3) 2763 K (4) 380.0K
Options :

920906100529. 1
920906100530. 2



920906100531. 3
920906100532. 4

Question Number : 34 Question Id : 92090625442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rate constant for a certain reaction is found to be 2.3 x 107 L mol™'s™". The order of this
reaction is

0T () 1
(3) 2 (4) 3
Options :

920906100533. 1
920906100534. 2
920906100535. 3
920906100536. 4

Question Number : 34 Question Id : 92090625442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopat arfiiferar 3 for 33 Fadies 2.3 « 1075 L mol s~ URIT AT § | S99 iffehar &1 3 81 ;

(1M 0 2) 1
3 2 4) 3
Options :

920906100533. 1
920906100534. 2
920906100535. 3
920906100536. 4

Question Number : 35 Question Id : 92090625443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The oxoacid of phosphorus from the following acting as reducing agent is
(1) H3PO, (2) H4P0y

(3)  HsP20s (4)  H4P20s

Options :



920906100537. 1
920906100538. 2
920906100539. 3
920906100540. 4

Question Number : 35 Question Id : 92090625443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafefad & @ BReRY o1 Sied s S sfudrl dHe St Hifd S Hd1e, 98 ¢ -

(1) H3PO, (2) HaP207
(3) H4P205 (4) HsP20s
Options :

920906100537. 1
920906100538. 2
920906100539. 3
920906100540. 4

Question Number : 36 Question Id : 92090625444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct IUPAC name of [CoClz(en)z]" is :

(1) dichloridadi ethane-1,2-diamine cobalt (1)

(2) dichlorido-bis(ethane-1,2-diamine) cobalt ()
(3) Bichloridodi(Ethane-1,2-diamine) cobalt (II1)
(4) Dichloridobis{ethane-1-2-diamine) cobalt (ll1)

Options :

920906100541. 1
920906100542. 2
920906100543. 3
920906100544. 4

Question Number : 36 Question Id : 92090625444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[CoClz(en)z]* &1 HET IUPAC ATH & ;

) SEEdRe] SBUUH - 1, 2-SSUHA HiaTee ()

) SRdaNe! f[FHEdE-1,2-SBUHA) SEr (1)

) dIEddle! 813 (UUH-1, 2-SIRUHH) Sidiee (1)
) SRdde! fol @Y-1, 2-SRUHA) HiET (11l)

(1
(2
(3
(4

Options :

920906100541. 1
920906100542. 2
920906100543. 3
920906100544. 4

Question Number : 37 Question Id : 92090625445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Highest oxidation state shown by Mn is :

(1) 3 (2) +3
(3) +7 4 +2
Options :

920906100545. 1
920906100546. 2
920906100547. 3
920906100548. 4

Question Number : 37 Question Id : 92090625445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mn GRT ST T3 I=dH TS0 TR 8

(1) +3 (2) +3
3) +7 4) +2
Options :

920906100545. 1
920906100546. 2
920906100547. 3
920906100548. 4



Question Number : 38 Question Id : 92090625446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Intensive property from the following is :

(1) Volume (2) Heat capacity
(3) Density (4) Internal energy
Options :

920906100549. 1
920906100550. 2
920906100551. 3
920906100552. 4

Question Number : 38 Question Id : 92090625446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefed & 9 sidasdRIeAS @1 W) Ui § ;

(1)  ildd (2) <Y &Hdl
3) wId (4) SHiaRD el
Options :

920906100549. 1
920906100550. 2
920906100551. 3
920906100552. 4

Question Number : 39 Question Id : 92090625447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the following reaction at equilibrium the value of K¢ is :
Nz(g) + Oa(g) = 2NO(g)
[N2] = 3.0 x 1072 M;[02] = 4.2 x 107* M
[NO] =28 x10° M, T = 343 K.
(1) 0222 (2) 0.444
(3) 0622 (4) 0.288

Options :



920906100553. 1
920906100554. 2
920906100555. 3
920906100556. 4

Question Number : 39 Question Id : 92090625447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad sfifFa F T A g WK PTAAE
Nz(g) + O2(g) = 2NO(g)

[N2] = 3.0 x 107 M;[0:] = 4.2 x 10 M
[NO]=28x10° M, T = 343 K

(1) 0222 (2) 0444
(3) 0.622 (4) 0.288
Options :

920906100553. 1
920906100554. 2
920906100555. 3
920906100556. 4

Question Number : 40 Question Id : 92090625448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Terms Expressions
B W ()  AU+ApV
1) () AH, -TAS,,
©  AGsy iy A
T
(D) AH

(V) -2.303 nRTLog 2
vl

Choose the correct answer from the options given below:

(1
(2
3
(4

) (A)-(IV), (B)-(1), (©)-(11), (D)-(1)

) (A)-(IV), (B)-(1), (C©)-(1), (D)-(11)
) (A)-(V), (B)-(IN), (C)-(1), (D)-(1D)
) (A)-(), (B)-(), (C)-(1m), (D)-(IV)

—

Options :

920906100557. 1
920906100558. 2
920906100559. 3
920906100560. 4

Question Number : 40 Question Id : 92090625448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Ay g 1| BT e By

i-1 gdi-1l
(A) W () AU+ ApV
(B) AS,,. (1) AHg, -TA Sy,
Q) AGgy, (1) AH,
T
(D) AH

(V) —2.303 nRTLog /]
1

i 13U U [qsedi 1 § 9l I &1 994 ST

(1) (A)-(IV), (B)-(l1), (C)-(1), (D)-(1)

(2)  (A)-(IV), (B)-(1h), (C)-(1). (D)-(1)

(3)  (A)-(IV), (B)-(11), (C)-(1), (D)-(1)

(4) (A, (B)-(In), (C)-(), (D)-(IV)
Options :

920906100557. 1
920906100558. 2
920906100559. 3
920906100560. 4

Question Number : 41 Question Id : 92090625449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Viscosity of a liquid decreases as the temperature increases.

Reasons (R) : With rise in temperature kinetic energy of molecules increases.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1 Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct



Options :

920906100561. 1
920906100562. 2
920906100563. 3
920906100564. 4

Question Number : 41 Question Id : 92090625449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 31 YA AT MU §: T SHIUHU (Assertion A) & FU H ffad 8 ol gER1 39S
I (Reason Hja;?c;qff;

ANFYT A - dYHHE & g8 W gd S| WHT HH 8l 8
HRUIR - AUHE & " P A1y el B o ot § afE et
IWIEd FYF & Hald H A iU U f[Awed] d § Tel I &1 994 Hiforg

(1) ASRREH FEIE AR R A DI Hel T &

2) AR RGH Hel g, Al R, A DI ol ARAT el ¢
(3) AWEE AP R UG T @

(4) AGEITEIE, AP RUE §

Options :

920906100561. 1
920906100562. 2
920906100563. 3
920906100564. 4

Question Number : 42 Question Id : 92090625450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the transition metals from the following.

A Sc
B Cu
& Na
D. Mi
E Ce

Choose the correct answer from the options given below :

(1) B and E only

(2) A BandEonly

(3) A, B and D only

(4) C and D only
Options :

920906100565. 1
920906100566. 2
920906100567. 3
920906100568. 4

Question Number : 42 Question Id : 92090625450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefad & 9 denu argsi &1 ggar $ife :
A Sc
B. Cu
L, Na
D. Ni
E Ce

4t fou e fasedi # 9 Tl IR &1 999 Sifoe

(1) &ad B3RE

(2) ad A B3IRE

(3) &ad A B3HRD

(4) ®ad C3RD
Options :

920906100565. 1



920906100566. 2
920906100567. 3
920906100568. 4

Question Number : 43 Question Id : 92090625451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Znis considered as d-block element but not as a transition metal.
Reasons (R) : Transition metals are metals with incomplete d-subshell either in neutral

atom or in the ionic state

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
{4) (A) is not correct but (R) is correct
Options :

920906100569. 1
920906100570. 2
920906100571. 3
920906100572. 4

Question Number : 43 Question Id : 92090625451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 31 YA fAU MU §: U SHHBYU (Assertion A) S U H fif@d 8 I gER1 39S
I (Reason R]*F‘Jﬂ;

HUBYAA :  Zn B d-sid dcd AT STl & Qb HH 0l &1 Tl {1 A1l 2
PHRUIR : ISR URHTY] Al T =T H HhHul 41y QUi d-IUH I (Heda)

GIGIR G s

I HYA & 3l | Ard ST U f[adhedl # A Tgl I &1 994 DIl

(M
(2)
(3)
(4)

A SR R Q1 GE1 § SR R, A B UEl ARSAT &

A 3R R GHT 921 €, Afh R, A B U] ST Tl §
ATEl €, Af R WET LT 8

ATE S S A R U §

Options :

920906100569. 1
920906100570. 2
920906100571. 3
920906100572. 4

Question Number : 44 Question Id : 92090625452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : For the first order reaction, rate of reaction is independent of

concentration of reactants.

Statementll : For a zero order reaction rate constant is independent of

concentration of reactants.

In the light of the above statements, choose the correct answer from the options
given below :

(1
(2
(3

)
)
)
(4)

Both Statement | and Statement Il are true
Both Statement | and Statement |l are false
Statement | is true but Statement | is false

Statement | is false but Statement Il is true

Options :
920906100573. 1
920906100574. 2



920906100575. 3
920906100576. 4

Question Number : 44 Question Id : 92090625452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R vy R ME:

HYA | : Y HH i Afifcbar 7, srfissar &1 R SifieRST Bl Wigdl A AR gl 21
&Y || : R HH BT HTHHA & oY R Fadis sifiedRS! ot Figal 9 F9e g1 |
IWRIK HYA & 3l H, 12 AU 70 faweul # 9 |gt IR &1 9 Fiforn

1) B SRS T R

) @Y1 I SHE 3 &

(3) DU FA B, Alh HYA Il A 8
(4) DY A g, Alhd U | T &

Options :

920906100573. 1
920906100574. 2
920906100575. 3
920906100576. 4

Question Number : 45 Question Id : 92090625453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Type of solid Example
(A) Molecular solid () Ag
(B) lonic solid (I Sio:
(C) Metallic solid (ny 1z
(D) Covalent solid (Iv) MgO

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(1), (©)-(1V), (D)-(11)

(2)  (A)-(m), (B)-(IV), (O)-(1), (D)-(11)

(3 (A)-(V), (B)-(11), (C)-(I1), (D)-(1)

(4)  (A)-(), (B)-(l), (©)-(1V), (D)-(1)
Options :

920906100577. 1
920906100578. 2
920906100579. 3
920906100580. 4

Question Number : 45 Question Id : 92090625453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & | gl 1| &1 e Siforg

gal-1 gdi-1
() Sivas 3 ) Ag
(B) I B ()  SiO2
€ ulfd® 3™ (e
(D) HEHdTSl 3™ (V) MgO
i feu e fasmedl © 9 TEt IaR &1 994 DI

(1) (A=), (B)-(), (C)-(1V), (D)-(11)
(@ (A)-(l), (B)-(V), (O-(1). (D)-(IN)
(3)  (A)-(IV), (B)-(IN), (C)-(lm), (D)-(1)
(4) (A=), (B)-(I), (C)-(IV), (D)-(1)

Options :



920906100577. 1
920906100578. 2
920906100579. 3
920906100580. 4

Question Number : 46 Question Id : 92090625454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Reduction potentials are given below Arrange them in increasing order of oxidising
strength.

A Fy(g)+26 »2F E° =287V
O,(g)+4H" +4&8 - 2H,0 E =123V

C. Cu™ +28 - Culs) £ =0.34V

D. Pb* +28 —» Pb(s) E' = -0.13V

g Fe* +28 > Fe(s) E =-044V

Choose the correct answer from the options given below :

(1) ABCDE

(2) EDCBA

3) BCDEA

4 DCEBA
Options :

920906100581. 1
920906100582. 2
920906100583. 3
920906100584. 4

Question Number : 46 Question Id : 92090625454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= s=gA fava R e 8| 399! sifedlierl I & dgd HH | aieyd Pl
A Flg)+2e »2F E° =287V

B. O,(g)+4H +4é -2H,0 E =123V

. Cu** +28 — Cu(s) £ =034V

D. PbT+28 > Pbs)E = -013V

Fe'* +2e - Fe(s) E =-044 V

i fou e fasedi # |9 9l I &1 9g- Hifeld -

(1) A BCDE
(2) ED.CBA
(3) B.CDEA
(4) D,CEBA

Options :

920906100581. 1
920906100582. 2
920906100583. 3
920906100584. 4

Question Number : 47 Question Id : 92090625455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(Oxide of nitrogen) (Oxidation state of nitrogen)
(A) Nitrogen monoxide (ny +3
(B) Dinitrogen trioxide (mn +1
(C) Dinitrogen tetroxide (my +2
(D) Dinitrogen monoxide (V) +4

Choose the correct answer from the options given below:

(1
(2
(3
(4

) (A)-(IV), (B)-(1), (C)-(In), (D)-(1)
) (A)-(1), (B)-(1), (C)-(IV), (D)-(1)
) (A)-(111), (B)-(1), (C)-(I1), (D)-(IV)
) (A)-(I), (B)-(1), (C)-(1V), (D)-(I)

Options :

920906100585. 1
920906100586. 2
920906100587. 3
920906100588. 4

Question Number : 47 Question Id : 92090625455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & Gy gt 1| BT e Piferg

gei-1 gdi-
([ATSISH & HHTES) (ATSCISH DI SHTRITHI0T 3w
(A) BTN AFSHEES ) +3
(B) SIZARCIA CIRHIRIZS ay  +1
(C) SIARCNA ClHaEs () +2
(D) SRS HHINFERS (V) +4

i féu 7T fadedi § O g8t I &1 994 i

(1) (A)-0V), (B)-(11), (C)-(1), (D)-(1)
(@) (A)-(1), (B)-(1), (O)-(V), (D)-(I1)
(3) (A=), (B)-(1), (O)-(l), (D)-(IV)
(4) (A, (B)-(D), (O)-(IV). (D)-(11)

Options :

920906100585. 1
920906100586. 2
920906100587. 3
920906100588. 4

Question Number : 48 Question Id : 92090625456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify incorrect statements about inner transition series.

A The actinoids include elements from Ac to Lr.

B There are fourteen elements in Lanthanoid series.

C Actinoids are radioactive elements.

D. Lanthanoids and actinoids are silvery in appearance.

E Actinoids are very less reactive and reactivity is lost if finely divided.

Choose the correct answer from the options given below :

(1) A and E only
(2) B, CandDonly
(3) C and E only
(4) B, D and E only

Options :



920906100589. 1
920906100590. 2
920906100591. 3
920906100592. 4

Question Number : 48 Question Id : 92090625456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g AU 4ot & favg & Tad HYF i UgdH Hifeg|

A URHESHH Acq Lr dF & dd idfed g1

B. dAISEH Avft Hf digg dd ¢!

C. UHHzey dsareni ad g

D. WIS 3R UeHised Fugd (Ricad)) fRwm 3 €1

E URHESY dgd $W ffHfhardia g1 ¢ ok gerar ¥ favifora 87 W siffesareiieran
gt 8l Sl 81

44 f3U U fas el # ¥ 9el IR &1 994 Sifeid

(1) &add ASIRE

(2) &dd B,C3HRD

(3) ®ad C3RE

(4) &dd B, D 3RE

Options :

920906100589. 1
920906100590. 2
920906100591. 3
920906100592. 4

Question Number : 49 Question Id : 92090625457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Complex/Complexion Types of isomerism
(A) [Pt (NH3)z Clz] () lonisation isomerism
(B) [Colen):]** (I)  Linkage isomerism
(C) Hg[Co(SCN)4] (Illy Geometrical isomerism

(IV) Optical isomerism
(D) [Co(MH3)s5Qs4) Br

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I), (C)-(1), (D)-(I1)
) (A)-(n), (B)-(1v), (C)-(), (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(11), (D)-(1)
(@) (A, (B)-(1), (O)-(m), (D)-(IV)

Options :

920906100593. 1
920906100594. 2
920906100595. 3
920906100596. 4

Question Number : 49 Question Id : 92090625457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EE R CHE N ERIEE T

- y it
(G 1Pl /e TR 31T (FHEGSd P UHR)
(A) [Pt (NHa)2 Cl2] ()  SHITHIDHI0 GHIGTET
(B) [Cofen)s)* (1) Hgod GHEdd
(C) Hg[Co(SCN)4] (i  SNPTY SHEgdd
(D) [Co(NHz)sSO4] Br (V) UHIRIE JHIGGdd
A feu U fadmedl § O gt I &1 9aH i
(1) (A)-(V), (B)-(1l1), (C)-(1), (D)-(11)
(2) (A)-(I), (B)-(IV), (C)-(11), (D)-(1)
(3) (A)-(IV), (B)-(1), (C)-(1n), (D)-(1)
(4) (A)-(1), (B)-(I1), (C)-(111), (D)-(IV)
Options :

920906100593. 1
920906100594. 2
920906100595. 3
920906100596. 4

Question Number : 50 Question Id : 92090625458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Valence bond theory does not distinguish between weak and
strong ligands

Statement Il : Crystal field theory considers metal-Ligand bond to be covalent in

nature.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false
(4) Statement | is false but Statement Il is true

Options :



920906100597. 1
920906100598. 2
920906100599. 3
920906100600. 4

Question Number : 50 Question Id : 92090625458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R APy RT MU E:
®YA |« GOEhdl ey g Fdd 3R ved fergd & o9 3R A8 S g

amquzﬁﬁimmﬁwam%%u@m%mﬂﬁmmﬁﬁ
|

JIWad HYA & Al H A 30 U f[dped] d J Tel I &1 994 Siferg

(1) SYTIR NS gd e

2) ®YTI 3R ISHI T E

(3) ©YT | A g, Alhd HYA 11 A B
(4) ®YA| A g, A HYF 11 9 &

Options :

920906100597. 1
920906100598. 2
920906100599. 3
920906100600. 4

Question Number : 51 Question Id : 92090625459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a-decay from U?*# can be explained by :

(1) Quantum mechanical tunneling (2) Wave nature of particle

E) Particle nature of wave (4) Rutherford backscattering
Options :

920906100601. 1
920906100602. 2
920906100603. 3
920906100604. 4



Question Number : 51 Question Id : 92090625459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U2 GRT o—3HY&A &1 SgRal 9 g1 &1 ol 9ahdl &
(1)  ®icH gifde &M @A fdn) (2) HUN & T UPHid
(3) dUI @I HU USA (4) TCIBIS Uy UHIUH

Options :

920906100601. 1
920906100602 2
920906100603. 3
920906100604. 4

Question Number : 52 Question Id : 92090625460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : If unpolarized light is incident on a polarizer it transmits half of
the intensity of light incident on it.

Statement Il : If circularly polarized light is incident on a polarizer, the
transmitted light remains constant in intensity on rotation of the
polarizer.

In the light of the above statements, choose the correct answer from the options
given below :

)] Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3 Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true
Options :

920906100605. 1

920906100606. 2

920906100607. 3
920906100608. 4

Question Number : 52 Question Id : 92090625460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR Fy UM §:

HYF | : S AYdiFd UHT B Ydb /Moo’ W SIal ofdl ¢ dl 98 {91 JHW
3{Tafed Wbt B diddl & 318 &1 GaRd Sl g

®Y Il : Ffe I Yfad UHTI H1 Yadh/dieRiger W Sal Sl ¢, dl $aid g1 dral
ST UleRIgeR/ §ad &I giofd H3- IR RR g gl

S YA & Al H A fGU U f[ddwed] 7 9 ¥el I &1 999 Hiforg

(1)  ®YIR IS 9d 8

2) ®YI R ISH T &

(3) DY HA g, Tl HYA 1l TT &
(4) HYTI AT G, AP B I TAE

Options :

920906100605. 1
920906100606. 2
920906100607. 3
920906100608. 4

Question Number : 53 Question Id : 92090625461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the case of superconductivity state of a material which of the following is true?

(1 B=0.p=0 (2) B =constant;p=0

)
3) p=0 8 =constant (4) B = constant, p = constant

(
(8 is the magnetic field inside the material and p is the resistivity of the material)

Options :

920906100609. 1
920906100610. 2
920906100611. 3
920906100612. 4

Question Number : 53 Question Id : 92090625461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



verd 3t sifcaasd siaw i Maiid A A S AT 9d 8
(1) B=0.p=0 2) B=FRR;p=0
@) p=08=T@R 4 B =R p=RR

B U1 & 3icR BT a1y &7 3R p yard &1 URIHd 8)

Options :

9209061006009. 1
920906100610. 2
920906100611. 3
920906100612. 4

Question Number : 54 Question Id : 92090625462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particle is moving freely in +x axis. Which of the following was function represents the
motion of the particle?

(1) Acos(kx'-cot ) (2) Aelkr at)
I i (4) Asin(kx - o)
Options :

920906100613. 1
920906100614. 2
920906100615. 3
920906100616. 4

Question Number : 54 Question Id : 92090625462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w?aamﬂﬁmm%ﬁaﬁ@ﬂﬁ%mmaﬁwmﬁwﬁaﬁmh
&l

(1)  Acos(kx'-wt) 2)  Aeilx-ot)
G Aele @) Asin(kx - o)
Options :

920906100613. 1



920906100614. 2
920906100615. 3
920906100616. 4

Question Number : 55 Question Id : 92090625463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a particle having narrow wave packet

(1) wave length is short

(2)  position can be determined more accurately

(3)  energy can be determined more accurately

(4) momentum can be determined more accurately
Options :

920906100617. 1
920906100618. 2
920906100619. 3
920906100620. 4

Question Number : 55 Question Id : 92090625463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1u] 1 Udhe aTdl HU1 & forg

(1) aureed B1d g g

@) = &1 AR sifte gurdar ¥ & s asar gl

@) Fui &1 AR sifte gurd ¥ @ far S 9dr

@)  Ean &1 RuRo st gurd wu 9 o1 gedr g
Options :

920906100617. 1
920906100618. 2
920906100619. 3
920906100620. 4

Question Number : 56 Question Id : 92090625464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The nearest neighbour distance of a fcc lattice, having lattice constant ‘a’ is equal to:

a 3
" 55 @) e
(3) % 4) +fBa

Options :

920906100621. 1
920906100622. 2
920906100623. 3
920906100624. 4

Question Number : 56 Question Id : 92090625464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey (Siae®) RIS ‘a’ a1 fee AfeH & o Fdean ufadw gl SRR St 8

a V3
(1) — & 2) —a®b
2 (2) o
@ % @) +Ba®
W2
Options :

920906100621. 1
920906100622. 2
920906100623. 3
920906100624. 4

Question Number : 57 Question Id : 92090625465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Optical fibres work on the principle of

(1)  Diffraction (2) Interference
E)) Total Internal Reflection (4) Polarization
Options :

920906100625. 1
920906100626. 2



920906100627. 3
920906100628. 4

Question Number : 57 Question Id : 92090625465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd (USRS PR & R ReadHa e

(1) fad (2) SAfdHEI
3) Pd AP Wad— (4) YdTHol
Options :

920906100625. 1
920906100626. 2
920906100627. 3
920906100628. 4

Question Number : 58 Question Id : 92090625466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paramagnetic material has 10°® atoms/m?®. Its susceptibility at 350 K is 2.8 x 107,
Susceptibility of the material at 300 K is.

(1) 24x10™ (2) 327 x 10
(3) 5.67x10% (4 65410
Options :

920906100629. 1
920906100630. 2
920906100631. 3
920906100632. 4

Question Number : 58 Question Id : 92090625466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S WiEgady ggrd & 102 qRAmyy-HieR §1 350 K R Ugrd &1 gaoig ughd 2.8 x 10 &
uerd &1 e ugii 300 K W grl

(1) 24x10* (2) 327 x 10
(3) 567x10* (4) 6.54 x 10
Options :

920906100629. 1
920906100630. 2
920906100631. 3
920906100632. 4

Question Number : 59 Question Id : 92090625467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The change of entropy in cycle ABCDA (as shown in figure) is :

Pl & W B
T AT L
- { G
F
O—}U
(1) positive (2) negative
(3) ZEero (4) infinite
Options :

920906100633. 1
920906100634. 2
920906100635. 3
920906100636. 4

Question Number : 59 Question Id : 92090625467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I ABCDA ¥ Tl H uftacH o o e & e man 8) €

P A 1 B
Th_.__.. { C
T
Qe 5w
M) ¥HS (2) Yo
3) M (4) S
Options :

920906100633. 1
920906100634. 2
920906100635. 3
920906100636. 4

Question Number : 60 Question Id : 92090625468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron makes a transition from the ground state A to an excited state B. It remains in
the state B for a period of 1.6 x 107"¢ s before returning back to ground state. The
uncertainty in the energy of state

(1) 1.62x10%eV (2) 2.06x 10 eV
(3) 924x10%eV (4) 412 x10% eV
Options :

920906100637. 1
920906100638. 2
920906100639. 3
920906100640. 4

Question Number : 60 Question Id : 92090625468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UH Sodei YR SaRIT A ¥ Iaford Sfaw] B T HHHU Sl ¢ | T8 SMURT w1 § argd
A A YEA 1.6 x 10712 s DI FHAGI b B TR H Igdl &1 FHl & a1 H SfFadar g :

(1)  1.62x10%eV (2) 2.06x10%eV
(3) 9.24x10%eV (4) 4.12x10*eV
Options :

920906100637. 1
920906100638. 2
920906100639. 3
920906100640. 4

Question Number : 61 Question Id : 92090625469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a region of time varying electric and magnetic field, I¥and A are scalar and vector
potentials respectively. The electric field [E') in that region may be represented as:

M E=%v g T2

ct
(3) E:—ﬁ't/—g 4 EF=-VV-VxA
Options :

920906100641. 1
920906100642. 2
920906100643. 3
920906100644. 4

Question Number : 61 Question Id : 92090625469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy uRadf &3 & fagga ok gadig &3 § VvelR A Hu: sy SR afew fava €1 39
&7 A fagygd &7 (£) 31w & wu o yefia feu s awa ¢

(1) E=VV (2) ;:_f‘f
ot
(3) E‘:—ﬁ'v‘—% @4 EF=VV-VxA
o

Options :



920906100641. 1
920906100642. 2
920906100643. 3
920906100644. 4

Question Number : 62 Question Id : 92090625470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Newton's rings experiment was performed using two different media. The »'" dark ring in
the two media were observed with their diameters in the ratio of 2 : 1. The ratio of the
refractive indices of the two media is :

(M 2:1 (2) 4:1
(3) 1:2 4 1:4
Options :

920906100645. 1
920906100646. 2
920906100647. 3
920906100648. 4

Question Number : 62 Question Id : 92090625470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yed & 9 uReun &1 1 firg Al &1 I e fbar an un SE weEi J ot
fefraad (ST 1) 2 : 1 & o uid # ™ & 91y <@ U SFI ATl & Sfuad-is] Bl
ST I

(1 2 (2) 4:1
B 1:2 4 1:4
Options :

920906100645. 1
920906100646. 2
920906100647. 3
920906100648. 4

Question Number : 63 Question Id : 92090625471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first maxima for Bragg's diffraction of X-rays from KCl crystal (d = 0.314 nm) appears
at 30°. The energy of a photon of the incident X-rays is :

(1) 3.15x10% eV (2) 3.25x 103 eV
(3) 395x10°eV (4) 6.50 x 10 eV
Options :

920906100649. 1
920906100650. 2
920906100651. 3
920906100652. 4

Question Number : 63 Question Id : 92090625471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

KCI foeed (d = 0.314 nm) A X-TH0T & o171 fagda & o gys 3w (e Afda) 30° )
fears fear smufdd X6l & w1eH &1 Sl ¢

(1) 3.15x10° eV (2) 325x10%eV
(3) 395x10°eV (4) 6.50 x 10° eV
Options :

920906100649. 1
920906100650. 2
920906100651. 3
920906100652. 4

Question Number : 64 Question Id : 92090625472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The compound having the largest cohesive energy is :

(1) Methane (CHa) (2) Diamond (C)
(3 Sodium Chloride (NaCl) (4) Sodium (Na)
Options :

920906100653. 1
920906100654. 2
920906100655. 3
920906100656. 4



Question Number : 64 Question Id : 92090625472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HfeHaH GHod Sl gl diTE & :

(1) HI%F (CH) (2) BRI(Q)
(3) OIfeTH FREE (Nacl) (4) HIfETH (Na)
Options :

920906100653. 1
920906100654. 2
920906100655. 3
920906100656. 4

Question Number : 65 Question Id : 92090625473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lenz's law states that

(1 If the flux is decreasing, the current will flow such that its field adds to the original
flux

(2) If the flux is decreasing, the current will flow such that its field cancels the original
flux

(3) If the flux is increasing, the current will flow such that its field adds to the original
flux

(4)  Ifthe flux is changing, the current will not try to nullify the flux charge

Options :

920906100657. 1
920906100658. 2
920906100659. 3
920906100660. 4

Question Number : 65 Question Id : 92090625473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl Fgn pedr g a6

(1) i ftare (weie) SH 81 TE1 8 ; ol YT &1 UdTe U1 8 6 IueT &3 Wa it
H gfg s

2) Hﬁgrﬂf‘uala g2 81 8, 1 4R1 &1 UdTg W1 g i 3uaT &3 3d $ifvarg &1 A
& |

(3) I f¥aTe 9 TeT @, A URI vaTg T I b Iuept & Ao $iftare # gfa |

4)  fe siftyarg uRafdd 81 @18, i 4R1 Sifiare uRad &1 I A &1 T S|

Options :

920906100657. 1
920906100658. 2
920906100659. 3
920906100660. 4

Question Number : 66 Question Id : 92090625474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Divergence of magnetic field (ﬁ_f':] is always zero.

Reasons (R) : Magnetic monopoles do not exist in nature. Magnets are always found
as dipoles. Therefore, magnetic lines of force always make a close loop.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1
(2
(3
(4

) Both (A) and (R) are correct and (R) is the correct explanation of (A)

) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
) (A) is correct but (R) is not correct

) (A) is not correct but (R) is correct

Options :

920906100661. 1

920906100662. 2

920906100663. 3
920906100664. 4



Question Number : 66 Question Id : 92090625474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 HyA U U §: U HMUBUT (Assertion A) F F9 H forfad § o gOv1 3%
I (Reason R) & w0 H:

HABUT A BT 8 BT SR A (V.8) YA B ¢

PRUR: AP UHYd @) YHia # Tl U o § 1 g9 e fayd SR &
Y H U0 S €1 3d: ged i o Y@ 9ed U 49d qd &1l 6

JIWIad HYA & MdlP H, A U U fahed] & 9 Hgl IR &1 994 Difold

(1) ASRRIA GEl € 3R R A DI Hel A=A &

@  ARREH Gl €, A R, A B TS AR el &
@) AU E AT RUE R

(4 AUEITEIE AFTREE R

Options :

920906100661. 1
920906100662. 2
920906100663. 3
920906100664. 4

Question Number : 67 Question Id : 92090625475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Interference pattern is obtained when light waves coming from the two
coherent sources superimpose on each other.

Reasons (R) : If the two sources are coherent, the phase difference between the two
waves coming from these two sources does not change with time.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906100665. 1
920906100666. 2
920906100667. 3
920906100668. 4

Question Number : 67 Question Id : 92090625475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g1 HyA U MU §: U HSUA (Assertion A) F &9 H faifad 8 ol 393 39S
@I (Reason R) & qul;

AFYT A . T 3 GYad Hldl F 3 dTell YHI a3 U g8 IR SR gidt € o
SAfreRor e/ Ae urd gidl g

PRUIR - gfd g1 |id 9id J4ad g, a1 29 g1 Jidl 9 313 il gF1 a3 & & Far
3iaR YHY & 1y yRafdd gl g 2|

IWIad HYA & Hed § A U U f[deed] d 9 ¥el I &1 994 Hiforg

(1) AARRIHA FE1§ 3R R, A DI Hel AR ©

2  ASIRRTHI Hal g, Al R, A B Hal A 8l &
3) AW E Al T E 2

(4) AW TRl E, ABTRUG &

Options :



920906100665. 1
920906100666. 2
920906100667. 3
920906100668. 4

Question Number : 68 Question Id : 92090625476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following wave functions cannot have physical significance in the interval
shown?

v
A
:
\
B.
:
W
.

ur

¥

Rl A

Choose the correct answer from the options given below :

(1) A, B and D only

(2) C, B and D only

(3) D, Cand E only

4) A, B and C only
Options :

920906100669. 1
920906100670. 2
920906100671. 3
920906100672. 4

Question Number : 68 Question Id : 92090625476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fFrafafEd @ 9 #1498 a3 B a1 <2iT 1Y Siawrd # Hifde Agd 181 €1 g g2

0
A
X
0
B.
X
1]
R
X
Ay
.
o
E.

4 few o foredi & 9 el 3R &1 994 S

(1) &ad A B3R D
2) &dd A C3RD

3) &ad D,C3HRE
4) HAd A BIHRC
Options :

920906100669. 1
920906100670. 2
920906100671. 3
920906100672. 4



Question Number : 69 Question Id : 92090625477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  As the absolute temperature 7 — 0, the values of heat capacities
(Cp and Cv) tend to zero.
Reasons (R) : The entropy changes in all reversible isothermal processes tend to zero

as temperature approaches absolute zero.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (&) is false but (R) is true

Options :

920906100673. 1
920906100674. 2
920906100675. 3
920906100676. 4

Question Number : 69 Question Id : 92090625477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 g1 Sy f3U TN §: U SHTUBHYA (Assertion A) S ¥ H feffad 8 ol gO1 39D
[0 (Reason R) E quf;

HHBYT A :  URH AIUHF 7 -0 819 W, a9 &HAISH (Cp SR Cv) & HF & Y gH Bl
R gl 81

PRUIR: T Icpruig FHard! wehHi & Tt aRads a9HH & WY IR 8 W
A 8 M B

JUIad DY & Adld 1, Ard fGu U fdded] # 9 9gl I &1 994 Difold

(1) ASRREAHEI € 3R R, A DI HEl AR &

) ASRREHIWE AP R, A B UE AR TR
3) A¥EE AP REE @

4 AW TIE, AMPTRIL

Options :

920906100673. 1
920906100674. 2
920906100675. 3
920906100676. 4

Question Number : 70 Question Id : 92090625478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : For a thermally isochoric system, the appropriate set of
conditions for stable equilibrium is

dsS=0,dv=0dU=0dS<0

Statement |l : For a thermally isolated isobaric system, the appropriate set of
conditions for stable equilibrium is dH = 0, dS < 0, dP = 0 (All the
thermodynamic variables ie. V , U, S, H and P are used in their
usually meanings,

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct

(2) Both Statement | and Statement |l are incorrect

(3) Statement | is correct but Statement Il is incorrect

4) Statement | is incorrect but Statement Il is correct
Options :

920906100677. 1
920906100678. 2
920906100679. 3
920906100680. 4

Question Number : 70 Question Id : 92090625478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FyRTMUE:

YA

| . Al ¥U ¥ fAa/gue gagaqe oF 8 =l & o Rt @

SUE AT § -
dS=0,dV=0dU=0,d2S <0

HYF 11 : A ¥4 F fAen/gys S9iRe oF 1, wrd 9y & fou Ryfadl &1 3uged

e g-
dH =0,dS < 0,dP =0

@it SeATTfa® =R Srdfq v, U, S, H 3R P &1 IUTRT 37 JH o |
faa a8

JIWIad HYA & Hald |, Ard ST U fahed] d § Hgl I B1 999 Biferg

(1
(2)
(3)
(4)

HYF | 3R 11 T HA &
HYF | 3R 11 ST 3T &
HYT | TF ¢, Al Y || 3TI &
HY | A g, AP P 11 9T &

Options :

920906100677. 1
920906100678. 2
920906100679. 3
920906100680. 4

Question Number : 71 Question Id : 92090625479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il

Crystal structures Angle between Axes
(A) Triclinic l ao=F=r=90°
(B) Cubic )y a=f=r
(C) Hexagonal (m a=pg=r+90°<120°
(D) Rhombohedral (V) a=p8=90° r=120°

Choose the correct answer from the options given below:

(1) (A=, (B)-(1), (C)-(1), (D)-(IV)

2 @A)-(m, B)-(1), (©O-(v), (D)-(I1)

(3) (A, (B)-(1). (O)-(1n), (D)-(IV)

@) (A)-(), (B)-(1), (C)-(IV), (D)-(1)
Options :

920906100681. 1
920906100682. 2
920906100683. 3
920906100684. 4

Question Number : 71 Question Id : 92090625479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & G Gt 11| T e $ifen

-1 (fspeeet |3 gefl-11 (31&ff & " Ho)
(NEREEGIE () a=pf=r=90°
(B) H-IPRR () a=zp=r
(€) WepIuig () a=f=r=90°<120°
(D) BEEEaany (IV) a=p3=90° r=120°

i feu 7 fasedl & 9 98! I &1 994 i

(1) (A)-(l), (B)-(I), (C)-(I), (D)-(IV)

(2)  (A)-(l), (B)-(), (©)-(IV), (D)-()

(3)  (A)-(n), (B)-(1), (O)-(1m), (D)-(IV)

@ (A)-(I), (B)-(1). (C)-(1V), (D)-(1)
Options :

920906100681. 1
920906100682. 2
920906100683. 3
920906100684. 4

Question Number : 72 Question Id : 92090625480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List II
(8T =174
A T
" (3) o )
(aT oP
i o I L8
®) LoV J, h oT },
T ol =
& = (i) —[f]
\ &P ). 05 L
(oS ov
D — I\ oo
o (&) ™ (35)

Choose the correct answer from the options given below:

(1) (A)-(V), (B)-(11), (C)-(I), (D)-(1)

(2) (A=), (B)-(I), (©)-(1), (D)-(IV)

(3)  (A-(Iv), (B)-(), (C)-(1), (D)-(I1)
) )

(4 (A)-(1), (B)-(I1), (C)-(1), (D)-(IV)

Options :

920906100685. 1
920906100686. 2
920906100687 3
920906100688. 4

Question Number : 72 Question Id : 92090625480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



EeER R CIEANERIEEI T

- gl

() %L () —[‘;‘;L
- i

© %) () —[g]
ofE  w
il feu 77U fasedl § 4 Tg! IR &1 904 i

(1) (A)-(V), (B)-(I1), (C)-(1), (D)-(1)
(2 (A)-(), (B)-(I), (C)-(1). (D)-(IV)
(3} (A-(V), (B)-(l1), (C)-(1), (D)-(11)
@) (A)-(), (B)-(1), (C)-(1m), (D)-(IV)

Options :

920906100685. 1
920906100686. 2
920906100687. 3
920906100688. 4

Question Number : 73 Question Id : 92090625481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the classical free electron theory, which of the following statements are
correct?

A Every free electron in a metal has average kinetic energy of %k?.

B. Free electron model successfully explained temperature dependence of electrical
conductivity.

C. It does not explain why some crystals are metallic.

It successfully explained the existance of conductors, semiconductors and
insulators.

E It failed to explain the behaviour of good conductors and bad conductors.

Choose the correct answer from the options given below :

(1) A, BandConly

(2) B, C and D only

(3) A, Cand E only

(4) C DandEonly
Options :

920906100689. 1
920906100690. 2
920906100691. 3
920906100692. 4

Question Number : 73 Question Id : 92090625481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIyPd Had SadeH g Rig & AR Fufifed A9 9 4 sy 981 &2
A urg B Ude qad saeeH @ aﬁmnﬁa?ﬁa’f%kr‘eﬁﬁl%l

qdd goiaeH Aled A dggd d1addl B algHH R &1 9ha ¥4 9 AR & &
Y 3@ RS T BT & [ F9 Tveea ufa® =i g

g Aretshi, 31t Arersh| ofR faqgaiifedl & siftia & quhe oursl Hdl ¢

E. UE YaIod| 3R HAIad| & IdeR ] ARl S H 3f9hd el g |

4t fou e faseui # 9 98l I &1 99 el -

o N W

(1) &ad A B3ARC

2) Fdd B, C3RD

(3) %ad A C3IRE

4) ¥dd C,DIRE
Options :

920906100689. 1
920906100690. 2
920906100691. 3
920906100692. 4

Question Number : 74 Question Id : 92090625482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following waves in increasing order of energy.

A Ultraviolet light waves.
B Infrared light waves

C X-rays.

D. Visible light waves.

E;

Gamma waves.

Choose the correct answer from the options given below :

(1) B.DECA

(2) D,BAEC

(3) B.D A CE

(4) E.BDAC
Options :

920906100693. 1
920906100694. 2
920906100695. 3
920906100696. 4

Question Number : 74 Question Id : 92090625482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafifad o &1 FHel & dgd HH H Hafyd Hifert ;

A, OIS UHT A
B.  3fa¥eRd UbRI addl
C. Uy

D. 90 UbT adl

E. 7T &

i fou e fasedi # 9 98t I &1 994 $ifeld -

() BDECGCA
) D.BAEC
3) BDAGCE
4) EBDAC



Options :

920906100693. 1
920906100694. 2
920906100695. 3
920906100696. 4

Question Number : 75 Question Id : 92090625483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If electric flux density 0 =2x/+4 / , then the numeric value of volume charge density is :

(1) 4 &) 3
(3) 2 (4) 6
Options :

920906100697. 1
920906100698. 2
920906100699. 3
920906100700. 4

Question Number : 75 Question Id : 92090625483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Aggd SMHarE 99 D =2x/ +4 /, 8, Tl SdH-31a% 99 ST J&edd JF 81l :

(4 2 3
@ 2 4) 6
Options :

920906100697 1
920906100698. 2
920906100699. 3
920906100700. 4

Question Number : 76 Question Id : 92090625484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antigenic determinants are known as

(1) Combining sites on lymphocytes
(2)  Portion of antigen involved in binding with Antibody
(3)  Portion of antibody involved in binding with antigen
(4) Binding site on antibodies

Options :

920906100701. 1
920906100702. 2
920906100703. 3
920906100704. 4

Question Number : 76 Question Id : 92090625484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufafer @ter) FuRe Hgard @

(1)  aHbLE (R HEey) R Hae- ¥d

(2) e &1 ufaRe (@ SIS T deA S are |
3)  wiaRel &1 ufdeH ¥ dy= § Yrfigrl & arar 4T
@)  uldRigd W) deseRl wd

Options :

920906100701. 1
920906100702. 2
920906100703. 3
920906100704. 4

Question Number : 77 Question Id : 92090625485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In oxidative phosphorylation, oxidation of a molecule of glucose to CO: yields

(1) 30 or 32 ATP (2) 28 or 30 ATP
(3) 32 or 34 ATP (4) 31o0r32 ATP
Options :

920906100705. 1
920906100706. 2
920906100707. 3



920906100708. 4

Question Number : 77 Question Id : 92090625485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HidiHIul BB #, D & Ud 30 & CO: H e ¥ afsdl g1di 3 :

(1) 304132 ATP &t (2) 287130 ATP &l
(3) 32TI34 ATP &I (4) 317132 ATP &l
Options :

920906100705. 1
920906100706. 2
920906100707. 3
920906100708. 4

Question Number : 78 Question Id : 92090625486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Binding Energy AG, is

(n Covalent interaction between enzymes and substrate
(2)  Free energy derived by enzymes — substrate interaction
(3) It increases activation energy of reaction

(4) Provides unstability to enzyme-substrate interaction

Options :

920906100709. 1
920906100710. 2
920906100711. 3
920906100712. 4

Question Number : 78 Question Id : 92090625486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y G4, AG, B

(1) TIed 3R fhaR (Jawe) & o geadrsl =il
2) ToTgH-feuR SR R R g Had S

3)  ug sififerar &1 wfbta Sof S a@r S @

@)  USTEH-FUYR RIafEar #Y SRR UeH el g
Options :

920906100709. 1

920906100710. 2

920906100711. 3
920906100712. 4

Question Number : 79 Question Id : 92090625487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The hormone which is formed in corpus luteum as well as placenta and helps in
maintaining pregnancy:

(1) Estrogen (2) Progesterone
(3) Testosterone (4) Follicle Stimulating Hormone (FSH)
Options :

920906100713. 1
920906100714. 2
920906100715. 3
920906100716. 4

Question Number : 79 Question Id : 92090625487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U BT Sl HIUY SfeTd 3R @R (301 SHI 7 &dT ¢ SR THiawT &1 &Y 3@ |
UeIg® gidi e, 98 8 :

(1) TEEH (2) U
3) TERIA (4) TP AT e (FSH)
Options :

920906100713. 1
920906100714. 2
920906100715. 3
920906100716. 4



Question Number : 80 Question Id : 92090625488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cross in which an unknown genotype is crossed with homozygous individual having
recessive trait is known as :

(1)  Back cross (2) Dihybrid cross
(3) Test cross (4) Law of Independent Assortment
Options :

920906100717. 1
920906100718. 2
920906100719. 3
920906100720. 4

Question Number : 80 Question Id : 92090625488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg I (b1 fored Bt sriTd Siwey &1 surdt fadive ard gugsl afdd 4
T HATT O] 8, Pl & -

(1)  Udld HehIl (8 HIE) (2) fadiaR davm
(3) Uﬂ&ﬁifw (4) Law of Independent Assortment
Options :

920906100717. 1
920906100718. 2
920906100719. 3
920906100720. 4

Question Number : 81 Question Id : 92090625489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the concentration of H" in a solution of 0.01 M NaQH?

(1) 10“M 2) 107°M
(3) 109 M (4) 10"M
Options :

920906100721. 1
920906100722. 2
920906100723. 3
920906100724. 4



Question Number : 81 Question Id : 92090625489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.01 M NaOH @& faag |d &1 Higdl a1 eri?

(1) 10 M (2) 107"Mm
3) 1013 M 4) 107" M
Options :

920906100721. 1
920906100722. 2
920906100723. 3
920906100724. 4

Question Number : 82 Question Id : 92090625490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amino-acids which contains ‘Sulfur’ in its side-chain is

(1) serine (2) threonine
(3 alanine (4) cysteine
Options :

920906100725. 1
920906100726. 2
920906100727. 3
920906100728. 4

Question Number : 82 Question Id : 92090625490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U o fored Iu! WY sEen HewY Bldl 6, 8 6

1y  HRE 2) fsi=E
3) A 4) RrE=
Options :

920906100725. 1
920906100726. 2
920906100727. 3



920906100728. 4

Question Number : 83 Question Id : 92090625491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Experiments to prove that “DNA is the genetic material® using radioisotopes P** and 5§,
was performed by

(1)  Avery-Macleod-McCarty (2) Chargaff
(3) Rosalind Franklin (4) Hershey-Chase
Options :

920906100729. 1
920906100730. 2
920906100731. 3
920906100732. 4

Question Number : 83 Question Id : 92090625491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IS snsdEery (fafdhur THRIA®) P22 3R $° & IUUNT gRT 4 g & &1 uive e
“DNA S{TdfRres uary g fasar 1mar ot

(1) Uad-Adfoalis-Adad] gRl (2) ING GRI
3) Ifers Thebfer grI (4) BY-IHEN
Options :

920906100729. 1
920906100730. 2
920906100731. 3
920906100732. 4

Question Number : 84 Question Id : 92090625492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a-amanitin, disrupts mRNA formation in animal cells by blocking

(1) Pol | (2) Polll
(3) PolV (4) Pol IV



Options :

920906100733. 1
920906100734. 2
920906100735. 3
920906100736. 4

Question Number : 84 Question Id : 92090625492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o TR g BIABTSH H mRNA & 97 B 3aTG Db AN Bl ¢

(1) Ul (2) Ul
(3) UV 4) UiV
Options :

920906100733. 1
920906100734. 2
920906100735. 3
920906100736. 4

Question Number : 85 Question Id : 92090625493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metal ion, that is very tightly bound to the enzyme protein is called,

(1)  Prosthetic group (2) Apoenzyme
(3) Holoenzyme (4) Co-Enzyme
Options :

920906100737. 1
920906100738. 2
920906100739. 3
920906100740. 4

Question Number : 85 Question Id : 92090625493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U YT 3T, S i 2adl 9 tied WidH 9 21 ¢, 98 Feadi ¢ -

(1)  veles 9gg (2) TUCTSH
(3) EaggH (4) DITIZH
Options :

920906100737. 1
920906100738. 2
920906100739. 3
920906100740. 4

Question Number : 86 Question Id : 92090625494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The nicks in DNA strand are sealed by

(1)  DNA polymerase (2) DNA gyrase
(3) DNA helicase (4) DNA ligase
Options :

920906100741. 1
920906100742. 2
920906100743. 3
920906100744. 4

Question Number : 86 Question Id : 92090625494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA TI®1 ¥ @i (Faw) didds el & ;

(1) DNATUIHE Y (2) DNATIZHH
(3) DNAGHIHIEH (4) DNATITHH
Options :

920906100741. 1
920906100742. 2
920906100743. 3
920906100744. 4

Question Number : 87 Question Id : 92090625495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clotting of blood can be inhibited by

(1) Prothrombin (2) Heparin
(3) Histamine (4) Fibrin
Options :

920906100745. 1
920906100746. 2
920906100747. 3
920906100748. 4

Question Number : 87 Question Id : 92090625495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG & WA (YTHT §9) I AP ol ol & ;

(1) v 2) RufEd
(3) fewed=a (4) WISleE T
Options :

920906100745. 1
920906100746. 2
920906100747. 3
920906100748. 4

Question Number : 88 Question Id : 92090625496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Insertion or deletion of nucleotides changes the reading frame (triplets of nucleotides),
such mutation is known as

)] Silent mutation (2) Mis-sense mutation
(3) Frameshift mutation (4) Non-sense mutation
Options :

920906100749. 1
920906100750. 2
920906100751. 3
920906100752. 4

Question Number : 88 Question Id : 92090625496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ffdasiiergsl &1 GHEYA 31ydl faciua dfEn ha @ fdasiiergel & Beh) &1 uRafdd a3

(1) R4 [@gd<) IdRdaad 2) for-8=g Iafadq
3) FH-fRve Iafada (4) -89 IARda
Options :

920906100749. 1
920906100750. 2
920906100751. 3
920906100752. 4

Question Number : 89 Question Id : 92090625497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Glycinuria condition is associated with excess Glycine excretion through
urine.
Reasons (R) : This condition leads to the formation of oxalate renal stones.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(N Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906100753. 1
920906100754. 2
920906100755. 3
920906100756. 4

Question Number : 89 Question Id : 92090625497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



13 g1 HyA U U §: U HISUA (Assertion A) F F9 H farfed € ol 3031 39S
I (Reason R]ai"ﬁqfl';

FEYT A - TR ) 3 A sifdle wsdiF & IeiA O HalEd B
HRUIR: =4 RUfd 9 99 # sifaade ¥ &9 9d g
SURIE YA & e |, A1 fGu e faswed & 9 981 IR &1 994 ifou

(1) ASIRRIEH Helg 3R A DI Hel AT &

) ASIRREHI Hel g, Afd R, A P! Ul oIS T8l &
3) AYEE AfPpa R ¥ TR 8

(4 ATSTEE ABFTRULR

Options :

920906100753. 1

920906100754. 2

920906100755. 3
920906100756. 4

Question Number : 90 Question Id : 92090625498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  The sequence of pumping blood and filling of chambers in Heart is
called "Cardiac Cycle".

Reasons (R) : The volume of blood pumped by ventricles in one minute is called
Heart Rate.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1n Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :
920906100757. 1
920906100758. 2



920906100759. 3
920906100760. 4

Question Number : 90 Question Id : 92090625498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g1 Sy U T §: U DY (Assertion A) & ¥ H ferfEd & ol gO-1 39
hI0 (Reason Hj%ﬂﬁ;

HUHYT A . TS H Ul SR Bl & A BT 3hH TP PHedldl ol
PHRUIR : U e # gl gR1 U4 819 916 39d & - & ged e ®ed o
I $YH & 3did 7, A AU MU f[dbedl 7 4 Hgt 3 &1 99 Hifolg

(1) ASIRRGH T8l g SRR A DI el AT &

2) ASRRIHA GEE AR, A D] Ul AT L &
(3)  AYElE, AP R G ET @

4) ATEITRIE, ABTIRUCI €

Options :

920906100757. 1
920906100758. 2
920906100759. 3
920906100760. 4

Question Number : 91 Question Id : 92090625499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Mitochondria and Chloroplasts are known as semi-autonomous
organelles of a cell.

Reasons (R) : They have DNA, RNA, ribosomes and can synthesize some proteins.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

920906100761. 1

920906100762. 2

920906100763. 3
920906100764. 4

Question Number : 91 Question Id : 92090625499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3 YA QT U §: U SHHFHYU (Assertion A) & U H fifed &l g1 39S
I (Reason H]a??caqfll;

HHY A n@@mﬁaﬁﬁmmﬁmaﬁﬁm%ﬂ-mm
Hedd gl

FRUIR: 20 DNA, RNA, TZSH 81d § SR &8 WISl &1 YAy & 96d o |
IWIad HYA & AP H, A G U f[ased] d 9§ Hgl I &1 994 Difold

(1) ASRRIA GEIE 3R R A DI el A=A &

2 ARRGH Gel g, Alh R, A B Wa! AT Tel &
@) AUSE AFTRUE R

@ AUETEIE ABTREE

Options :

920906100761. 1
920906100762. 2
920906100763. 3



920906100764. 4

Question Number : 92 Question Id : 92090625500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the five steps that occur in photochemical reaction centers?

A. Excitation energy is transferred to neighbouring chlorophyll.
B Light excitation of chlorophyll molecule.

C Pathway of excited electron to ETC.

D. Excitation of ‘chlorophyll a' at reaction center.

E:

Energy of excitation transferred to adjacent chlorophyll.

Choose the correct answer from the options given below :

(1) BADCE

(2) ABECD

(3) A, D.EB;E

(4) B.D,CEA
Options :

920906100765. 1
920906100766. 2
920906100767. 3
920906100768. 4

Question Number : 92 Question Id : 92090625500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U8 3 9 Ui @101 € W USRS 3fiisar deil § it §ld §?
A Faed Sl Feedd sarifhd (quisha) 7 wHiaRd g Sl 81
B. SIRIfhal U] &I YhI Idw |

C. Juiford sadeiE &1 ETC H y|

D. 3Hi¥fshal g W TR a’ 1 I<dw|

E. JoH @ Sl (Hdbedd] daRihbd H RIHidRd 8 okl 8

1 fu e fasedi § | 98l IR &1 99+ Sl :

(1} BADCE
) ABECD
3) ADEBC
4 BDCEA

Options :

920906100765. 1
920906100766. 2
920906100767. 3
920906100768. 4

Question Number : 93 Question Id : 92090625501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Role of secondary messenger in G-protein signalling pathway is described in steps given
below.

A Activated receptor binds to G-protein, then GTP is bound which in turn activates
the G-protein.
cAMP, activates another protein that leads to cellular response.
Messenger binds to G-protein coupled receptor.

Activated GTP or G-protein binds to Adenylyl cyclase, GTP becomes hydrolyzed
and hence, activated Adenylyl cyclase.

E. Adenylyl cyclase which became activated converts ATP and cAMP.

Choose the correct answer from the options given below :

(1) A BCDE

(2) ADBCE

B) CAEDB

(4) C,ADEB
Options :

920906100769. 1
920906100770. 2
920906100771. 3
920906100772. 4

Question Number : 93 Question Id : 92090625501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-WIeH Habre Uy # fgdtad dezrargs i fie &l - f§u e =l # aftfa foar man g

A Tfpid UEl G-UIdH | 95 g1 8, [ GTP 9 81 oial €, Sl fthY G-UIdH &1 afhfid
HA el

B. cAMP 3= UIdH & Afehfld Hal & Sl SIS 3fh41 gic g
C. UATEd G-I Gfd el ¥ 9= &1 ol &1

D. AfhRd GTP T1 G-UITH UiSHoe dsaeid ¥ 9% &1 9Iidl &, GTP SIasfayfed gl offdl &
3R gHere ufsffere arsae &1 |ieid & a1 |

£ ufsffea ageey o afhfd 81 9rar 8, ATP &Y camp # ulRafdd R aar 8|
44 f3u v fasedi # 9 Hel IR &1 984 Hifod ;

(1) A BCDE

(2) A DBCE

(3) CAEDEB

(4) CADEB
Options :

920906100769. 1
920906100770. 2
920906100771. 3
920906100772. 4

Question Number : 94 Question Id : 92090625502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Keratins are fibrous proteins that are found in eukaryotes.
Statement Il : w-keratin is soft and soluble while B-keratin is tough and
insoluble.

In the light of the above statements, choose the correct answer from the options
given below :

(4 Statement | is false but Statement Il is true

(1 Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(E) Statement | is true but Statement Il is false
)



Options :

920906100773. 1
920906100774. 2
920906100775. 3
920906100776. 4

Question Number : 94 Question Id : 92090625502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g HyA feu MU &

&Y | - fpfe dgra Wi € S auiusg@! Siidl (gaiaey) # Ui o &
YT : o-fHMe g SR Ye-I<id S p-fbfe T SR sreamiia giar g
IWRIK HYA & 3Tl #, 12 AT U fawel # 9 "gt IR &1 9 Fifer

1) B SRS I ?

2) @Y ISR I SH 3 8

(3) ®YF| A g, Wlhd HYA Il A 8
(4) DY A B, Al YT 11 T &

Options :

920906100773. 1
920906100774. 2
920906100775. 3
920906100776. 4

Question Number : 95 Question Id : 92090625503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : The genetic polymorphism is defined as phenomenon of having
multiple stable forms of one gene in population.

Statement!ll : MHC genes are expressed ‘codominantly’, ie. they express
proteins transcribed from both maternal and paternal
chromosome.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false
(4) Statement | is false but Statement Il is true
Options :

920906100777. 1
920906100778. 2
920906100779. 3
920906100780. 4

Question Number : 95 Question Id : 92090625503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APy RuU §:

. AP dgEydl B AP & U oF & 3Fa RR U ¥ qU IF $i
uRrged & ¥4 § ufeuiftid faar o g1

HYF 1 : MHC o= &1 sifirafad “weuudeEy 3 Bﬁr%a{tﬁqﬁmmﬁqw
(BIHRH) EFT 9 SFaRad Wil $1 sfieaad Hd & |

SRR FY & 3Adle 1 i3 U faeedi O 9 ¥el I &1 99 Sifou
1) FYTIRISA I
(2) BYFI 3R ISH T §

3) HYTI9dE, AT By I g
(4) HUYTI TG, AP HFUT 1 TA &

Options :
920906100777. 1
920906100778. 2



920906100779. 3
920906100780. 4

Question Number : 96 Question Id : 92090625504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : During DNA replication, the continuous strand or leading strand
is the one in which 5 — 3' synthesis proceeds in the same
direction as replication fork movement.

Statement Il : The Lagging strand synthesis also proceeds in the same direction
as replication fork movement.

In the light of the above statements, choose the correct answer from the options
given below :

(1
(
(3
(4

Both Statement | and Statement Il are true

ol

Statement | is true but Statement |l is false

)
) Both Statement | and Statement |l are false
)
) Statement | is false but Statement Il is true

Options :

920906100781. 1
920906100782. 2
920906100783. 3
920906100784. 4

Question Number : 96 Question Id : 92090625504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR sy U MU E:
HYT | : DNA UaPpide (wliher) & 9T Tdd Isid a1 37 T6@ (ST 178) a8

B § o 5' 3¢ dzemr I fRwn 7 wfa ewan § el wfaefa gure
(BT i) Bi 1fd gkl g

&Y 1 : 9Y Il GRawur of I fawn F o sgar € o ufdeia gure @1 i

grdt g

JIWad HYA F fald H A G U f[Awed] d 9 Tgl 3wk &1 994 Siferg

(4)

HYF | 3R 11 S T §
HYF | 3R 11 3T T &
HY | TA ©, Afth Y || A &
HUF | A g, A HYA 11 T 8

Options :

920906100781. 1
920906100782. 2
920906100783. 3
920906100784. 4

Question Number : 97 Question Id : 92090625505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true?

A.

B
0
D.
E,

Monogenic inheritance have quantitative traits.

Inheritance of coat colour in fowl shows incomplete dominance.
Human blood groups are determined through multiple alleles.

A cross between F1 individual and a recessive parent is Test cross.

Human skin colour is determined by a single pair of alleles.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A, B and D only
B, D and E only
B, C and D only
A, E and C only

Options :
920906100785. 1



920906100786. 2
920906100787. 3
920906100788. 4

Question Number : 97 Question Id : 92090625505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafefaa 7 & 1 § oy 9dl 82

tHIgHT {HSRAS) drfa # wErerd 9S8 g

T 7 Bl & T Bt demTfa 3rquf genfaar a2t 81

HHa R il @1 o o veliel d g g

F, S8 3R U] 5Fe & &1 0T Tl AH0] (¥ H14) Heard ¢
E.  HFd @91 $ 3 &1 FuRo vl & U S8 gR1 g1 ¢

o 0o = @

4 fou e fasedi # 9 98t IR &1 994 Sifere -

(1) &ad A B3RD
(2) &dd B DSMRE
(3) ®dd B, C3RD
4) $dd A ESRC
Options :

920906100785. 1
920906100786. 2
920906100787. 3
920906100788. 4

Question Number : 98 Question Id : 92090625506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct answers : Carcinogenicity with radiant energy causes damage to

A DNA
B mRNA
C rENA
D. tRNA
E; RNA

Choose the correct answer from the options given below :

(1) B, Dand E only
(2) Aonly

(3) B, C and D only
(4) A, E and B only
Options :

920906100789. 1
920906100790. 2
920906100791. 3
920906100792. 4

Question Number : 98 Question Id : 92090625506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wel faeredl #1 gAY - fafdor Suf ¥ e gry afa 8t 2

A.  DNA &I
B. mRNA®I
C. TrRNA®I
D. tRNA®I
E. RNA®I

1 fau v fawedi # 9 9gl IR &1 994 ifeld -

(1) &dd B, DIRE
(2) Had A

(3) ®%dd B, C3RD
(4) &dd A E3RB



Options :

920906100789. 1
920906100790. 2
920906100791. 3
920906100792. 4

Question Number : 99 Question Id : 92090625507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Folacin (I)  Faulty Blood Clotting
(B) Ascorbic acid () Night blindness
(C) Retinol (1)  Anaemia
(D) Phylloquinone (IV) Scurvy

Choose the correct answer from the options given below:

(1) @A)-(), (B)-(1v), (C)-(1n), (D)-(1)

@  (A)- {ll} (B)-(IV), (O)-(1), (D)-(1)

(3)  (A)-(1), (B)-(1), (©O)-(1V), (D)-(I)

4) (A)- {ll}, (B)-(1), (C)-(1V), (D)-(1)
Options :

920906100793. 1
920906100794. 2
920906100795. 3
920906100796. 4

Question Number : 99 Question Id : 92090625507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | 6 FY = 1| 1 A S

- gal-Ii
(A) WIEREA o Iyl v @A
(8) UEpIfeled apa () AZesAESIN/RdieR
(€ YeH| (i O /e
D) Thea@EH (v) F&df
i fau U fawedi © § Tet 3T &1 994 HIg:

(1) (A=), (B)-(V), (O)-(N). (D)-(1)
(2) (A=), (B)-(IV), (C)-(ll), (D)-(1)
(3) (A, (B)-(1), (©)-(V). (D)-(I1)
(4) (A=), (B)-(1), (C)-(IV), (D)-(1l1)

Options :

920906100793. 1
920906100794. 2
920906100795. 3
920906100796. 4

Question Number : 100 Question Id : 92090625508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List 1l :

List | List Il
(A) Neimann-Pick disease () Absence of tyrosinase inside
melanocytes in skin
(B) Hunter's syndrome () Excessive amounts of
sphingomyelin deposition
(C) Gaucher's disease (Il  Mucopolysaccharidosis-Il
(D) Albinism (IV) High content of cerebroside

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(I), (©)-(IV), (D)-(1)
(@) (A, (B)-(), (O)-(V), (D)-(11D)
(3) (A, (B)-(1). (©)-(1D), (D)-(IV)
(4)  (A)-(IV), (B)-(lIN), (C)-(1). (D)-(11)



Options :

920906100797. 1
920906100798. 2
920906100799. 3
920906100800. 4

Question Number : 100 Question Id : 92090625508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A | 3 AT g 11 1 e By

- gel-ll
(A)  ARHA-fuE I () G H AAEEeH & 3iqY Ry
&1 U
B &l fem ay BT Fadu & srafie aEn
(© TR I (IR G| M CRE] R Al
(D) Uedl=wl/ quidgiHar  (v) SIS & 3= A
e feu U famed! § O el IR &l 99 Difg:
(1) (A=, (B)-(), (C)-(IV), (D)-(1)
(2) (A)-(1), (B)-(1), (C)-(IV), (D)-(11)
(3) (A)-(l), (B)-(1), (C)-(1), (D)-(IV)
@) (A)-(IV), (B)-(IlI), (C)-(1), (D)-(11)
Options :

920906100797. 1
920906100798. 2
920906100799. 3
920906100800. 4



